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#include<stdio.h>
int main(void){
int a=10;
int *p;
p=&a; /IFRALH pllZadDT FLRAEZAND
printf("a=%d¥n 2%k a O 7 K L ZA=%d¥n",a,&a);

printf("p=%d¥n",p); HZDWET RLUANIKSTL %
printf("p O HIZA - T A E=%d¥n",*p);
return(0);

}
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#include<stdio.h>
void swapl(@int x,int y){
int 1;
1=x;
X=y;
y=1
§
void swap2(@int *x,int *y){
int 1;
1=*x;
*X:*y;
*y=i;
}
void swap3(@int x,int y){
int 1;
1=x;
X=y;
y=1
printf("%d %d¥n",x,y);
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int main(void){
int x,y;
x=10;y=20;
printf("%d %d¥n",x,y);
swap1(x,y);
printf("%d %d¥n",x,y);
swap2(&x,&y);
printf("%d %d¥n"x,y);

x=10;y=20;
swap3(x,y);
return(0);

}
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